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Suppose you invest $1000 in a bank that pays a rate of 9%, compounded n times per year. Find the amount of
Imoney you would have in the bank if the interest were compounded various times per year. Fill in the chart.

Amount of money accumulated

9% Interest n
goénpoundedz After 1 year in the bank:
Camay | oot 2 < 8 104D
Semi-annually 2 $ 1092.03
Qurtery 3.1092.0%
o Monthly |1 80093, ¥l
semimonthly | 71 3 1093,99
Weeldy "1 3 1074,09
Daily 35 4 1094, 1@
Haurly - |10 $ 1094, 17
Every minute | 51540 @ 106114 (71
Brery second |o} eyl d 1094, ']
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s infinity, the amount of money earned opproaches a flxed value. Interest in this case is said
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to be compounde inously. Tf we
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1 2.00000000
{0 259314146
100 ZITWYIZQ
too 197469393
10000 1979 ¢ |53
100000 (771§ 26744
1,000,000 |77} #2507
10,000,000 17 71 ¢ 7740
100,000,000 | 9 717777
1,000,000000 | ) 7] £ 24143
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5 The namrai base e"is trm’haml and \;
’,, is defined as follows: asn — +=, :
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(1 5 ;‘;) > e ~271828183

$ Euler discovered “e” (1767 - 1783)

g It is one of the significant discoveries in math
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2 such as pi and imaginary numbers
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in the compound mferesf formukz we get:

Con‘fmuously Compounded Intar-es?

Use when money is compounded continuously.

A = Pe”

THINK: Pert shampoo warks continuously to make your hair luxurious!
A: Amount of money generated after t years

P: Principal amount
e ~ 2718281828459 (use the e on your TL-83I)

r: rate (% increase or decrease - always convert o a decimal)
+: time (in terms of the number of years)



Solve each word problem. Show all work! -

If{$200)is invested and earnd 8.0% simple interest Wwhat is the final value of the investment cf’rg@

;myr @H‘)O 200(1,0€)° W et

Wha’r if it was mveS‘red ‘at an annual

ate of 6.0% compounded continuously?

mvesfed at an cmnuol ate of 6.0% compounded monf_y what will be the final value of the
nvestmenf af’re

nt @HQ@@ @72775_31

3. Suppose that you are going to need $10,000 )n{thirt
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You want to invest in a bank that will yield(3.5% interest Jéompounded monﬂw!j}) —§(w much should you

invest in the bank?

ey O,00= P(H@ éw)

A 10000 = P (. 1105,

"

[ 1

10,900 _ = 400 %z\
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4./ Cer’rqm bacteria, given favorable growth conditions, grow@ﬁr@f arate oFind the
bacterial population after f the initial population was 250 bacteria:

ok -0 rt 36HRI =L days
ot A=Pe _ %Oef” Crpounded dacd NG

26186

—

/5 What will be the amount yielded if you invest: $20 500 or@ years at an annual fate of 7. 5‘7:; compounc}ed
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